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[A]

T -1/ PART -1
91« {9 9 fRrenems / CHILD DEVELOPMENT AND PEDAGOGY

3 : R 797 % a7 &7 & [ qag ST %y g

Direction : Answer the following questions by selecting the most appropriate option.

1. F=fofeg § 9 f9-T1 dFeEs a|
gfraied dew & gE 7@ e ?

(1) =™ H +E|
(2) u¥E 1 e
(3) TR A1
(4) MBI @ E|

2. ‘HamHdh gE q= H gEvYH fHEA
g fha 7
(1) %wei® T &b
(2) B0 wd g
(3) S wd i
(4) R @ g

3. frfefag & & @9-w1 Surm TR
AT qh ® FIEX P (AT HX
STl ARFM Al & g BROT &
MY & SO X e © °

(1) FRfISATOTE® SUFH
(2) FIBERI IIFH
(3) JafRTH FPRIAHD IUTH
(4) 9ETH IUH
4. ‘JQ AR GUET H FAIEH fhEA
TR @ ?
(1) FE e
(2) 2o Tdo YUMHEES
(3) T=aS =@ i
(4) UEda

Level-2/8112

1.

Which of the following is not the
main law of learning as prescribed
by Thorndike ?

(1) Law of Exercise

(2) Law of Effect

(3) Law of Readiness

(4) Law of Generalization

Who first introduced the word

'Emotional Intelligence' ?
(1) Fredrick and Kirk
(2) Henry and Peter

(3) John and Cronback
(4) Mayer and Salovey

Which of the following approach is
based on analysing the behaviour of
disabled child and find out the root
cause of his/her learning deficiency ?
(1) Psychoanalytic approach

(2) Behavioural approach

(3) Individualized instructional

approach
(4) Multisensory approach

Who first introduced the concept of
"Latent Learning" ?

(1) Kurt Lewin

(2) E. L. Thorndike

(3) Edward Chace Tolman
(4) Pavlov

P.T.O.



[A]

10.

‘TEEEE & T A B o 7
(1) faferEm s+

(2) Sto Hto arzE

(3) T &

(4) TEqe AT

frefefe & @ @9-@ e
TER® T IaTT & 7

(1) TR (2) q@

(3) T8 (4) g

g6 d X F BN g of®

uRadw, e @ - ofawer

g 3 oo & o E 7

(1) qd srearere

(2) UsT fpsmRraen

(3) TTERITEI

(4) 9T:EY B

%mmw AP H FF A
?

(1) ‘TE TR H AT

(2) M R Bl AT

(3) ‘TE-AN T A ST

4) ' TBR H I

“TRYAREAT S M BFar o e &

gm? TR J B9 oY T aar

(1) 63 11a9

(2) 1282099

(3) 38 6Ty

(4) 187E §3 a9

frfafed & @ #W-a1 e @

e s 7eff e ?

(1) |iad # e

(2) Jafre = & Rsr

(3) Vet 1 uHETdr @ s

(4) [Aldse 9 9MMg SfBRATel @
Harel F fosTa

Level-2/8112

[4]

10.

Who was the main propounder of
'functionalism' ?

(1) William James

(2) J. B. Watson

(3) Clark Hull

(4) Edward Tolman

Which of the following is example
of Innate Motive ?

(1) Award (2) Hunger

(3) Punishment (4) Incentives

In which stage of development, the
sexual changes that occur in the
child's body starts to appear ?

(1) Early childhood

(2) Later Adolescence

(3) Adulthood

(4) Puberty

What is the other name of classical

conditioning ?

(1) Type S conditioning

(2) Type R conditioning

(3) Type S-R conditioning

(4) Type U conditioning

What is age group given by Erikson

for the stage "industry vs

inferiority" ?

(1) 6to 11 years

(2) 12 to 20 years

(3) 3to 6 years

(4) 18 months to 3 years

Out of the following which is not

correct principle of 'Development' ?

(1) Principle of continuity

(2) Principle of individual difference

(3) Principle of uniformity of pattern

(4) Principle of proceeding from
specific to general responses



12.

13.

14.

. frefefeg & @ f-ar ‘omifeee @
are (eR) ‘<% 3| @Ol 3
9§ S ST 7

(1) HIBRAE

(2) gENER

(3) yEaE

(4) TReTCEaR
Frfifed & & B-a1 oD A
e P T FET 8 ¢

(1) GRS argar
(2) G qRuead
(3) STHIGLa™

(4) rgesiiaa

ded G PR gRE TOEe &
A 1 e foT SR T ?

(1) 8 ¥ 12 a¥ % AMY® AV a
Fradl & e

)4 8§ 8 q§ F AMGH AN a
Fradl & e

(3) 12 ¥ 15 ¥ % 9NES QAT a
Fraal & T

42 ¥ 4 7§ F qWGHE I A
Fraal & T

fr=ifoifeg & @ fN-a1 ‘TR @l
ik & fou @t s w9 © 7
(1) e > W@l - RUE —

OIRE]

(2) T — Jmte —» WRUE —
AT

(3) Tl — wRue — Wt —

Eelien]
4) T - ofaefe —» @™ —
BIECIED

Level-2/8112
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11.

12.

13.

14.

[A]

Which of the 'thoughts of school' in
Psychology is also called as 'Black
box theory' ?

(1) Behaviourism

(2) Structuralism

(3) Functionalism

(4) Gestaltism

Which of the following is not the
characteristic of Good Mental
Health ?

(1) Ability to adjust

(2) Emotional Maturity

(3) Self-confidence

(4) Intolerance

Scale I in Cattell Culture Free

Intelligence Test was prepared for
whom ?

(1) For 8 to 12 years
deficient person

mental

(2) For 4 to 8 years mental deficient
person

(3) For 12 to 15 years
deficient person

mental

(4) For 2 to 4 years mental deficient
person

Which of the following is the correct

logical order for 'process of creativity' ?

(1) Insight —  Preparation —
Incubation — Verification

(2) Preparation — Insight —
Incubation — Verification

(3) Preparation — Incubation —
Insight — Verification

(4) Preparation —  Insight —
Verification — Incubation

P.T.O.
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15.

16.

17.

18.

19.

TR ® HF-9 qrEm & e,
gﬁwaﬁaﬁwawﬁmw
?

(1) 3R® AfasT™

(2) TE A

(3) ofiifsa weifas™

(4) fopraTEs TR

fF O & AgER aWE B
e # UR&eqAel h HHIM @l

qar difhsd Rl & SMYR W foER
H B QI I HT AT 8 °

(1) 092 a9
(3) 69 11T9

(2) 296ay
@) 1191538

Level-2/8112

15.

16.

17.

18.

19.

Which of the following terms is not
related with the operant conditioning ?
(1) Insight

(2) Reinforcement

(3) Spontaneous Recovery

(4) Extinction

Who introduces 'Learning Disable’
word very first for the children
suffered from various learning
problems ?

(1) Heward

(2) Samuel Kirk

(3) Van Riper

(4) Birch

Which of the following Psychologist
is not supporter of views about
"Psychology as a Science of Soul" ?
(1) Plato

(2) Aristotle

(3) Descartes

(4) Wundt

In which branch of Psychology there
is a scope of study of Telepathy,
Rebirth etc. ?

(1) Physiological Psychology

(2) Clinical Psychology

(3) Parapsychology

(4) Developmental Psychology
According to Jean Piaget in which
stage child is able to understand
Hypothesis and getting thinking
ability on the basis of logical
statement ?

(1) Oto2years (2) 2to 6 years
(3) 6to 11 years (4) 11 to 15 years



20.

21,

22,

23.

24.

fr=ifoifeg & @ f9-a1 Ffas 99g
% e, S, A, Toeieer g
T STEHIT BT B 7

(1) AMIQEE! AR
(2) GSHIHS AN
(3) STAMNY A
(4) St AN

frefofeg & § @9-w1 afka @
YT ey R 787 91 1§ ?

(1) g

(2) FHATHSD

(3) WD

(4) TRE

S fEe & ogaR e faws
HTE QI AT w Y
e 8 7

(1) 0¥ 599

(2) 13918 a9

(3) 5T 8Ty

(4) 11313 a9

freifofeg & & ®F-a1 ofrm orem
TRl T T FE T’ ?

(1) coefienTer JHIiaan
(2) Wik STRear
(3) THIRYT TN
(4) STERmEr

THR AR Hadl ard Sl Bl s
qfeer 7 Bt B 7

(1) 509 60

(2) 36951

(3) 209 35

(4) 209 -

Level-2/8112
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20.

21,

22,

23.

24.

[A]

Which of the following Psychology
studies about man's thinking,
memory, language, perception etc. ?

(1) Humanist Psychology
(2) Cognitive Psychology
(3) Abnormal Psychology
(4) Clinical Psychology

Which of the following is not the
type of personality given by
Kretschmer ?

(1) Athletic

(2) Aesthetic

(3) Asthenic

(4) Pyknic

What is the age group for the moral
development stage "Heteronomy
Reciprocity" given by Jean Piaget ?
(1) Oto 5 years

(2) 13 to 18 years

(3) 5to 8 years

(4) 11 to 13 years

Which of the following is not the
characteristic of Learning Disabled
Children ?

(1) Perceptual effectiveness

(2) Emotional instability

(3) Disorder of attention

(4) Impulsivity

What is the 1.Q. Range of severe
mental retarded child ?

(1) 50to 60

(2) 36to051

(3) 20to 35

(4) below 20

P.T.O.



[A]
25

26.

27.

28.

29.

30.

. o # @N-S smen ¥ gum
?ﬁrﬁ%ws&r/ﬁwmﬁéﬁ
?
() 281499 (2) 15918 aY
(3) 10" 1299 (4) 19721

frfafag & @ @9-w1 g
feraT 1 WPR FET R ?

(1) fErd o

(2) g ferec

(3) TS v

4) @A foma

frfofeg & & #9-91 #=QsS

;;rﬁaﬁﬁﬁr Tfes & guds T8
?

(1) »rFe 2) f=l

(3) ot (4) TR Hid

‘AR % Yads diF I ?

(1) faferm s+

(2) faferm O

(3) fawen goe

(4) IR B¢

=g & @ d9-a1 a STRmRen

o’ O Gefg 7R ?

(1) TETHA ~ (2) TG

(3) HaT (4) Jrcared

‘I H HAT fHE g9 UgR @ S
g B ?

(1) ferpser

(2) g

(3) SR

(4) g

[8]

25.

26.

27.

28.

29.

30.

In which stage of development,
interest/friendship develops towards
same sexual groups ?

(1) 12to 14 years (2) 15 to 18 years

(3) 10to 12 years (4) 19 to 21 years

Which of the following is not the
type of Realistic thinking ?

(1) Convergent thinking

(2) Creative thinking

(3) Evaluative thinking

(4) Autistic thinking

Out of the following which
psychologist was not supporter of
'Humanist Psychology' ?

(1) Freud (2) Maslow
(3) Rogers (4) Arthur Combs
Who was the propounder of

'structuralism' ?

(1) William James
(2) William West
(3) Wilhelm Wundt
(4) Wilhelm Hunt

Which of the following component
is not related with the 'Motivation
Cycle' ?

(1) Need
(3) Emotion

(2) Drive

(4) Incentive

The 'emotion of fear' associated with
which basic instinct ?

(1) Repulsion

(2) Pugnacity

(3) Appeal

(4) Escape

Level-2/8112



[A]

AW - I/ PART - I
A7 (5=} wd i) / LANGUAGES (HINDI & ENGLISH)
[ &Y/ HINDI ]
e : =& 7971 % G 37 % [ qaq SfEd ey g
31. %9 a7 | deugEs AT H TAN 35. 77 w9 fawe g -
g ? (1) R B R asi = geas
(1) T ST Al 2 (2) T & A = g
(2) AR T | AT A B (3) T & R ST = GRS
(3) T TG 4 =W @ (4) T & R qUSY = FwEvey
(4) Hies STTehe SoTET Sadl 2
36. TeTg BRAT 78T ©
32. ‘% W YR UE TE © (1) s
(1) fourgs R
@ ¥ (3) oA
) Fre= (4) TIferrT
(4) ST
33. P e & Pt et e 2 7 37 T g 8 g
(1) G (1) s, _Ebﬁ_ig
2)a, % -
o K.
(3) WX
@ B 4) 3, g - gt
s 38. o9 faeheq § ‘o1 SUERT &1 YGNT 78T

e R @ e @ gy faeed
gﬁﬂ'\f:

(1) ARt = A1 &% Qi

(2) MR = T (af) & dR

(3) giwae™ = gl & Y 519

(4) Siigear = Sl ) 41

Level-2/8112

g ® 7

(1) sTgEr
(2) ST
(3) IR
(4) Sgamte

P.T.O.



[A] [10]

39. ARii 3 § o7ger IE YT ¢ 43. i foeBT @ e q org7T gT ¢
(1) feR9= (1) B + 35 = Firg
(2) FASTHREST 2) gft + 3= = gi=
(3) et (3) AR + 3= = apefie
(4) Toumat (4) T+ 30 = WHIA
40. AMLEFATEH FAAH e AR GO 44. ‘TEA WRA & U AW 817
() ¥ 45 g& @ & 3= g @ A 5 g B ®
Il (1) IRomedes foparm
(2) ¥ § B FA B (2) wigH e
(3) @A el TR Ul BT Hebell (3) % B
g
! (4) foramdes ©sm
(4) 98 =med & % A Haa o TBN
45. TOT B 9 o7 e :
41, g IuHI-IRT wE g = ™
i (1) 8F + 3Nl = el
(D
(2) Y + b = A
(2) @& o .
(3) 99 + Sfdr = qarar
(3) &9 . .
(4) 9T + TG = HIE
(4) Greq
42. T8 w5 # @S @iy B g el
g7
(1) arfisax
(2) e
(3) STt
(4) goitqET

Level-2/8112



46.

47.

48.

[11] [A]
[ S135ft / ENGLISH ]
Direction : Answer the following questions by selecting the most appropriate option.
Choose the part of the sentence 50. Choose the correct tense form :
which is incorrect : _
His newfilm is really worth Nanny died last wegk. She .........
a b o from cancer for some time. (suffer)
to be seen. (1) suffering
d
(1) a @) b (2) is suffering
(3) ¢ “4) d (3) had been suffering
Select the appropriate modal for the (4) suffers
expression given :
When ... we expect you ? 51. Select the appropriate modal for the
(possibility) expression given :
(1) may (2) will If you do that again you ........ be
(3) have to (4) dare punished. (threat)
Select the correct option (phrasal (1) may
verb) for the underlined word : (2) shall
Most of the patients respect Dr. John
. (3) can
for his kindness.
(1) payback  (2) zest for (4) ought
(3) make over  (4) look up to 52. Choose the correct option for the

49.

Choose the correct meaning of the
underlined words :

The baby monkeys ran every which
way.

(1) up
(2) straight
(3) in different directions

(4) down

Level-2/8112

following :

An  instrument for

earthquakes 1s :

detecting

(1) A Fathometer
(2) Lithoscope

(3) A Seismograph
(4) Cardiograph

P.T.O.
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53.

54.

55.

56.

Choose the correct meaning of the
underlined words :

It's a pity you don’t like football. But
each to their own.

(1) everyone has different opinions
(2) everyone has similar opinions
(3) each and all are same

(4) each one likes football

Choose the correct option to fill the
blank :

Immediately after the operation he
could see nothing vague
shadows.

(1) aslong as

(2) however

(3) but

(4) notwithstanding

Select the correct option (phrasal
verb) for the underlined word :

I don't know how we are going to
cope with the cold during winters.

(1) make up for

(2) put up with

(3) put down

(4) setup

Select appropriate preposition to fill
in the blank :

They walked the footpath
until they came to a bridge.

(1) into

(2) since

(3) along (4) in

[12]

57.

58.

59.

60.

Choose the correct tense form :

My car ........ for the third time since
I got it. (break down)

(1) break down
(2) has broken down
(3) was broke down

(4) has broken

Choose the part of the sentence
which is incorrect :

James is busy to prepare
a b C
tonight's dinner.
d
(1) a 2) b
3) ¢ 4) d

Choose the correct option to fill the
blank :

The room was empty ....... for a chair
in the corner.

(1) except
(2) and
(3) between

(4) behind

Select appropriate preposition to fill
in the blank :

The programme was broadcasted ......
the world.

(1) in
(3) onto

(2) off
(4) across

Level-2/8112
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[A]

HET -1/ PART -1l
qH 99 / GENERAL STUDIES

[ A ARG, dliche SARTEHCT Rl | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3T : Rl 797 % o7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

64.

Ui aAfk™l P, Q, R, S X TH, T, R

M S & Bler 81 Q, T Rigww aw=

T&?f%mi?bﬂ Ffed § T 81 R
e § BleT 81 IFH A HF q9d

w%?

(DR 2) Q

3) S 4) P

dF demt 203 : 4 F oguE | B

gﬂ%aﬁaﬁrqﬁ%%m‘r @ g

(1) 14,21, 28
(3) 8,12, 16

2) 12, 18,24
4) 4,6,8

A, X & U E B, Y 3 9@ 81 X
M Z H 79 Y 8 = & |
%ﬁ:?r—waswmawwﬁw:@?
(1) B, Z & =@l 2
(2) X, Z® 91 2
(3) B, A®I T 2
4) Y, A® IF B

AR @ H A 1 R T e,
i a8 aRer Qe § geet 5 fl
Ior &1 Y a8 qd Rem § gt 2
Rl o 8, SE& 918 a8 JaX fasm
I geat 9 fdl s@ar 231 o a8
gRfE g @ e g @St © °
(1) 4 fpr (2) 5 fepelt

(3) 7 feprt (4) 9 fert

Level-2/8112

61.

62.

63.

64.

Among five persons P, Q, R, S and
T, T is shorter than R and S. Q is not
as tall as T but taller than one
person. R is shorter than one person.
Who among them is the tallest ?

(1) R 2) Q

(3 S 4) P

Three numbers are in the ratio 2 : 3 : 4.

The sum of their cubes is 33957,
then the numbers are :

(1) 14,21,28 (2) 12, 18,24
(3) 8,12,16  (4) 4,6,8

A 1is father of X; B is mother of Y.
The sister of X and Z is Y. Which of
the following statement is
necessarily not true ?

(1) B is the mother of Z.
(2) X is the sister of Z.
(3) B is the wife of A.
(4) Y is the son of A.

A person walks 1 km towards East
and then he turns to South and walks
Skm. Again he turns to East and
walks 2 km, after this he turns to
North and walks 9 km. Now, how far
is he from his starting point ?

(1) 4km (2) Skm
(3) 7km (4) 9km

P.T.O.
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65.

66.

67.

68.

69.

i e A O R 1 ) L

DHL, PTX, BFJ, .....
(I) CGK (2) KOS
(3) NRV 4) OVZ

12 969 Th ®E & T & F 18
R aa ¥ wafs 12 Raat ot a9 3

%maﬁm&qﬁrﬁmﬁﬁr

Fd H 10 gey o 8 Rear wre-wn
F FXI g fhe R 7 qor  ?

1

1) 6 @ 7
1

13— 4) 14
3) 32 4)
Teh Tl &l Bedl & gl B W 36
MG | fobaq ufcierd gfes &Rl ?
(1) 200% (2) 450%
3) 550% (4) 700%

T AR TF a8 B % 24 F FAO ©
T IE] & Td B SO S A9
FHAC &, A 9% B AE I ©

(1) %15 ) 217

(3) %18 4) 20

15 fkE & T g8 H, 7 R
Ted &, 8 SISl Ued ¢ oMK 3 &S A
W TE ed 8 fem el R
AR AT AT Ted § 7

(1) 0 2) 3

(3) 4 45

Level-2/8112

[14]

65.

66.

67.

68.

69.

Find the next term of the following
letter series :

DHL, PTX, BFJ, .....
(1) CGK (2) KOS
(3) NRV 4) OVZ

12 men take 18 days to complete a
job whereas 12 women in 18 days

can complete % part of the same job.

How many days will 10 men and 8
women together take to complete the
same job ?

1

(1) 6 (2) 75

1
ORER

4) 14

The radius of a sphere is doubled.
What percent of its volume is
increased ?

(1) 200%
(3) 550%

(2) 450%
4) 700%

A dealer sells an article for ¥ 24 and
gains as much percent as the price of
the article, then the cost price of the
article is :
(1) % 15
3) %18

2) %17
4) 320
In a group of 15 people, 7 read
Hindi, 8 read English and 3 read

none of these language. How many
people read Hindi and English both ?

(1) 0 2) 3
(3) 4 “4) 5



70.

71.

72.

73.

74.

R p T ¢ IRAT AW T g
?“ﬁ ptgds, @ p T g B
e g

() p=24=2@ p=tig=2
®) p=ti=3 @) p=tia=

A% uh FMiREd T # 3% Fay @
" #@ A I H@ THIE AN
101,50 &, @ S AN H G
g & foT aXa &7 fobaem & ?

(1) T50 (2) T 100
(3) T 125 (4) T 147

et @ ot § g@ e S BT
A, CD, GHL 7, UVWXY

(1) LMNO (2) MNO

(3) MNOP (4) NOPQ

Th TGS B Th BT 108° qUT AT
A BT IUEX 31 AN SEY Hin J
T H HM 3T B -

(1) 63° (2) 74°

(3) 84° (4) 96°

GTWH,WQT%WET%@TW
% S A B T, g B q@ @
R B TH, aﬁa%wﬁ@f
Rem & 3 7

(1) Iax-qieaH
(2) e

(3) aRr-gd
(4) I

Level-2/8112
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70.

71.

72.

73.

74.

[A]
If p and ¢ are rational numbers and
3445
3-45

and q are :

=p+q\/§, then value of p

=2 p=

(1) p= 5

g =

3) p= (4) P=7:9=

l\.)I\] \IIN

NI\] [\CNIEN|
N 9o

If the compound interest on a certain
sum for two years at 3% p.a. be
% 101.50, then what would be the
simple interest on the same sum for
same period ?

(1) 50
(3) X 125

(2) T 100
(4) T 147

Find the missing term of the
following letter series :

A, CD, GHL, ?, UVWXY
(1) LMNO (2) MNO
(3) MNOP (4) NOPQ

One angle of a quadrilateral is 108°
and the remaining three angles are
equal. Find each of the three equal
angles :

(1) 63°
(3) 84°

(2) 74°
(4) 96°

Amit is west to Prakash and North to
Sumit. Tarun is in East of Sumit.
Tarun is in which direction with
reference to Amit ?

(1) North-West
(2) South
(3) South-East
(4) North

P.T.O.



[A]
75

76.

77.

78.

79.

80.

. Ji& DRIVER = 12, PEDESTRIAN =
20, ACCIDENT = 16, @ CAR =?
(1) 3 (2) 6
(3) 8 4) 16
=T 9o & 77 He S i
69, 55, 26, 13, 5
(1) 5 (2) 13
(3) 26 4) 55
Iy =4 =§ G|

1 1 1
—t—t—=4, W x WA
2x 4y 4z
7 7
1) — 2) —
(D T (2) 17
7 7
3) — 4) —
(3) T 4) >3

80 f5Hl BN # UH @Sl YEH 60
fpet, 40 fobr ofey ger qer 9w g 20
feft i der &t i | I 51 wR e
=T H Sl 9 R

(1) 24 FRHT Ui geT (2) 30 fBHT Ui et
(3) 32 Tt Ui geT (4) 36 hH Ui get

30 Hi & GO & Uh Y Q) 90
H TS 0.80 H 9 g R W
24 H B TR B TEE B AR

TR FI TRDE B §HT 8 -
(1) 48 % 2) 728
(3) 156 17 4) 1921

& U # oo 9 B8R & 169
WM W T 3 [9HE T8 8 9
183 ®N W B MU ofvw §
A 113 wH W R foww
T B # X e W W R
et & fere At @S g @ !
(1) 41 (2) 42

(3) 48 (4) 49

q
e
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75.

76.

77.

78.

79.

80.

If DRIVER = 12, PEDESTRIAN =
20, ACCIDENT = 16, then CAR = ?
(1) 3 (2) 6
3) 8 4) 16

Find the wrong number in the
following series :

69, 55, 26, 13, 5
(1) 5 (2) 13
(3) 26 4) 55
If 2'=4"=8 and i+i+i=4,
2x 4y 4z
then the value of x is :
7 7
1) — 2) —
(D T 2) 7
7 7
3) — 4) —
3) T “4) >3

In a journey of 80 kms a train covers the

first 60 kms at 40 km/hr. and the
remaining distance at 20 km/hr. The
average speed for the whole journey is :

(1) 24 km/hr.  (2) 30 km/hr.
(3) 32 km/hr.  (4) 36 km/hr.

A swimming pool, 30 m long has a
depth of water 0.80 m at one end and
2.4 m at the other end. The area of
the vertical cross-section of the pool
along thezlength is: )
(1) 48m ) (2) 2m )
(3) 156 m 4) 192 m

Anil is standing at 16th position
from the left end in a row. Vikas is at
18th position from the right end.
Gopal is 11th from Anil towards the
right and 3rd from Vikas towards the
right end. How many persons are
standing in this row ?

(1) 41 (2) 42

(3) 48 4) 49



81.

82.

83.

84.

85.

fifiRaq & ¥ 8®e (HAFED) %
TR § B9 @R ?

(i) 98 P IURN H T8 BT 3
(i) 98 P IURN H TUOF HIT ol
(iii) T8 B SAEM H Gl B ol
7&7 F< H TI BT

(1) () AR (i)

(2) & (i)

(3) (@) 3R (iii)

4) (), (i) 3R (iii)

e § #El TR-aw faeiia fE
ST TR ?

(1) g (2) HreT

(3) TGTR (4) &9t

‘TR e Gl LHAC BRI &
fhg et d i T R 7

(1) BER (2) HE

(3) &dh (4) STl

‘TR TR STEEH!’ & T ®

(1) Sfo FIE Fad

(2) &t 7Y A

(3) Sfo HMEb T

(4) =t O AR

el omEe % SR # fAithd el

W @R i -

(1) aRamT & ga e B onE
gﬂ?ﬁ?{ ag | § wEga qls]
|

(3) 7& g= @@ A=A A< HE A
Teell Afea 2

&l IR YA

(1) %o (o7) @& B

(2) %I (9) T 2

(3) (81) AR (9) 3! T &

(4) (31) &R (39) 3 &
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81.

82.

83.

84.

85.

[A]
Which of the following are true
about the functions of HAFED ?
(1) It procures agriculture products.
(i1) It markets agriculture products.
(ii1) It supplies agriculture inputs.
Choose the correct code :
(1) (1) and (ii)
(2) only (i)
(3) (i) and (iii)
(4) (1), (1) and (iii)
Where in Haryana 'City-forest' is
being developed ?
(1) Murthal (2) Sohna
(3) Yamunanagar (4) Hansi

'Air Shuttle Service' has been started
from which city of Haryana ?

(1) Hisar (2) Karnal

(3) Rohtak (4) Ambala

The President of 'Haryana Sahitya
Academy' is :

(1) Dr. Kumud Bansal

(2) Sh. Manohar Lal

(3) Dr. Ashok Batra

(4) Sh. Rana Oberoi

Consider the following statements

about Minty Agarwal :

(a) Minty Agarwal, a native of
Haryana, is a Squadron Leader
in Indian Air Force.

(b) She is the first woman, who
received Yudha Seva Medal.

Choose the correct answer :
(1) Statement (a) is true

(2) Statement (b) is true

(3) Both (a) and (b) are false
(4) Both (a) and (b) are true

P.T.O.



[A]

86

87.

88.

89.

90.

: AT ST AT JieX AT
(1) siig # (2) ST H
(3) gHYT § (4) FoEA |
S 2020 H, oIfoReq # W/

HI-G TRUMGH B TR IRE &
WY X HHG A 4 7

(1) T (2) TN

(3) T (4) o

1857 & fa5ie & 99T FooK H A
I o1 ?

(1) STgea &t

(2) a1 SEYE

(3) TEHEA

(4) foara sl

HAMH & AU ARG B G
WM FaRYd ©

(1) oT<re fofet o

(2) IR it |
(3) HHae ol H
(4) o fo 7

G N § §8d aml ARdl @
RECIEEEE

(i) SfgEfd (i) e

(iii) FHEE (iv) 3=

7&7 F< H =TI BT

(1) (i) 3 (i)

(2) (i) 3 (iid)

(3) (@), (iii) 3 (iv)

@) (), (ii), (iii) 3 (iv)
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86.

87.

88.

89.

90.

Ancient Bhawani Amba Mata temple
1s situated in :

(1) Jind
(3) Sonipat

(2) Ambala
(4) Kurukshetra

In January 2020, which of the
following Nagar Palika was raised to

the status of Nagar Parishad
(Municipal Council) ?

(1) Rania (2) Jhajjar

(3) Beri (4) Sirsi

Who was the Nawab of Jhajjar
during the uprising of 1857 ?

(1) Abd-ur Rahman Khan
(2) Nawab Shamsuddin
(3) Sadruddin

(4) Bisarat Ali

The original founding place of
Topara Inscription of Ashoka is
located in :

(1) Ambala district

(2) Yamunanagar district
(3) Kurukshetra district
(4) Kaithal district

Identify the rivers, which flows from
Mahendragarh district :

(1) Ambumati (i1) Dohan
(ii1) Kasavati (iv) Indori
Choose the correct code :
(1) (i) and (iii)

(2) (i) and (ii1)

(3) (1), (iii) and (iv)

4) (1), (i1), (ii1) and (iv)

Level-2/8112
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[A]

AT - IV / PART - IV
IS A9+ / SOCIAL STUDIES

3% : Rt g7 % a7 7 & [ qag ST [wey g

Direction : Answer the following questions by selecting the most appropriate option.

o1.

92.

93. il

NEHEX HEwe g8 1 § Y T
% & deqas ¥ 7

(1) BT S (Reem)

(2) B-sfMfed d% (=)

(3) AT S (SFdrR)

(4) ®Re ¥ At zh=an

gtﬂ%ﬁ@?r 4§ A gaea 78t
?

ol

(1) g

(2) "M

(3) W FHicTHT IR
(4) STz

EREEEL

)
AR oFERgelt & Fread
FH q 8 aF-|/8 W gal gakd
B/E?
(1) 7o G AESe @, gferd
AR e
(3) &= & : ARG AR T
Fott

(|) Twedl gt : REm SR AR
ufshan

A & T g B PN B FE ST

gﬁﬂ'\f:

(1) Faq

(2) &, 9T

(3) FaA T AT

(4) dad |

Level-2/8112

91.

92.

93.

Professor Muhammad Yunus is the
founder of which one of the
following banks ?

(1) Commercial Bank (Pakistan)

(2) Co-operative Bank (India)

(3) Grameen Bank (Bangladesh)

(4) State Bank of India

Which one of the following is not
correctly matched ?

Forest Tree
(1) Monsoon Sal
(2) Mangrove Sundari
(3) Tropical Evergreen Rosewood
(4) Alpine Teak

Which of the following pairs of the
list and contents is/are correctly
matched ?
(a) State List : Public Health, Police
and Education
(b) Union List : Citizenship and
Atomic Energy
(c¢) Concurrent List : Marriage and
Civil Procedure
Select the correct answer using the
codes given below :
(1) Onlya
(2) a,bandc
(3) Onlybandc
(4) Onlyc
P.T.O.



[A]

94.

95.

96.

97.

98.

99.

I qEfaH SRS &, SRS
T X 9 A ®, @

(1) YEmife i & | gl et
(2) woigd R S
(3) A 1 e &X R et

(4) aEgeTt oiX Fawtt & A F F
T

fearerg & ffaiad X1 & o |
qd & AR 7e HA B

EIERES]
(|) Smfear

CEKEE!

(3) St @

(1) &,8 98 )% A, 9,9
(3) ¥, 3, 9T (4 A, 9,87
fr omfties yomel #  ‘Sudlem @l
qiewar” Y o ® ?

(1) qHEE (2) Ti¥@ ateferaen
(3) i (4) HrETE

e & @ a9-& @ TR @ &
ST & AW G S S o ?

(1) SIMgR (2) PRI

(3) AER (4) T
frfofag & @ S9-8 TogRfT T
T& 7

(1) e (2) |

(3) HegS (4) gavren

TRA & AEE & D1 STfRE a8
% HgH AN § e §

(1) 72 2) 102

(3) 108 4) 111
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94.

95.

96.

97.

98.

99.

If the actual unemployment rate is below

the natural rate of unemployment, it

would be expected that :

(1) The rate of inflation would increase

(2) Wages would fall

(3) Natural rate of unemployment
will fall

(4) Demands for goods and services
will fall

The correct sequence of following
passes
towards East is :

(a) Banihal
(c) Bomdila
(1) a,c,b,d (2) d,a,b, c
3) b,a,c,d (4) a,b,d, c

In which economic system do we

in Himalaya from West

(b) Baralacha
(d) Jelep La

find "Consumers' Sovereignty" ?
(1) Socialism (2) Mixed Economy
(3) Capitalism (4) Communism

Which one of the following cities
was known as 'Shiraj of East' ?

(2) Agra

(4) Lakhnauti

(1) Jaunpur
(3) Lahore

Which one of the following is not a
superimposed river ?

(1) Damodar (2) Son

(3) Sutlej (4) Subarnarekha

Which Article of the constitution of
India is related to the joint session of
the parliament ?
(1) 72

(3) 108

(2) 102
@) 111



100.

101.

102.

103.

104.

105.

?ﬁﬁmiﬁaa%ﬂr§ﬁaaﬁ
qlE oW §N WY / |/

(1) Sl SR RN ARETS

(2) SETEET URliedl &l

(3) FIHTR GRUIEI]

(4) TS AR T FRETS

“grg faere RAO” & & SRE

YT B 7

(1) SloTHodNEo (2) THoLlodNEo

(3) gouoSlotlo (4) fasa ¥

STOE-2011 & e

T /%5 a6 § R see |
g?qwi%ﬁﬁaﬂ%WHwﬁW

(1) sra@y

(2) 9 IR FER

(3) q&EY

4) &

diepas Tl 9mae g & fored erfam
Tl 5% e § A ©

(1) 4z

(2) ST

(3) TSI

(4) e qar

AR GEUSE B Y8 Hl A
I

(37) spife (3) & wet

(|) Trer Wl (]) B

(1) 1,9,T (2) 9,.9,%

(3) 91,9, T (4) H, 9,9

did kg | ufverd fRHE stftemaR ast
T I ©

(1) afRor-giRed J7gd |

(2) aferfl-gdl ameE |

(3) uf¥eEl R |

(4) Gaeig awi q
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100.

101.

102.

103.

104.

105.

[A]

Which one of the following is not
correctly matched ?

Iron ore mines State / Region

(1) Dalli and Rajhara  Jharkhand
(2) Baba Budan hills  Karnataka
(3) Karimnagar Telangana

(4) Noamundi and Gua Jharkhand

Who  published the
Development Report" ?

(1) BM.L. (2) HD.L
(3) UN.D.P. (4) World Bank

As per census-2011, which state/union
territory has highest percent of
Muslim peoples religion in its total
population ?

(1) Assam

(2) Jammu and Kashmir

(3) Lakshadweep

(4) Kerala

Democracy is a system of
government in which the final power
rests with :

(1) The mob

(2) The people

(3) The politicians

(4) The civil service

Choose the Indian MNCs Groups :

"Human

(a) Infosys (b) Sun Pharma
(c) Tata Motors (d) Ford
(1) a,b,d (2) b,c,d
3) a,c,d (4) a,b,c

In winter, western Himalaya receives
maximum rainfall through :

(1) South-West Monsoon

(2) South-East Monsoon

(3) Western Depressions

(4) Convectional Rainfall

P.T.O.
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106.

107.

108.

109.

110.

111.

RS ARl (1975) &1 &g o ¢

(1) gHash foebre |
(2) e gari &
(3) Y gari q
(4) frated gart |

H,Q
g

’

¥ (AT G7T
A, EE AT EF

1 & fbe afEem & ‘gel s
A B SAERE w9 4 A

ot

(1) &, 1929 (2) @ER, 1929
(3) WER, 1930 (4) &=L, 1930
T orefeaen @ frelied § 9
H-G BT THET TF L 7

(1) 1 I4red fpar s ?

(2) B8 IAEA fRar S ?

(3) forer fIQ Scare fepar sq 2

(4) P8 I fBar S ?

qRg & Afes iy a9 S ®

(1) = TR &1
(2) wRd & Nt o fFm g™

(3) waE g 9% 3
(4) 9GE Shenfie faem §@ &m0

“afeal 1 gerRRer” R e

A T
(2) HiEq

(1) E
(3) T BERE  (4) Fo THo iy
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106.

107.

108.

109.

110.

111.

The Tarkunde Committee (1975) was
concerned with :

(1) Inclusive Development

(2) Economic Reforms

(3) Agriculture Reforms

(4) Electoral Reforms

Arrange the following events of

French Revolution in chronological

order and choose the right answer :

(a) Fall of Bastille

(b) Formation of National Assembly

(c) Establishment of the French
Republic

(d) Declaration of the Rights of man

(1) b,d,a,c (2) a,b,c,d

3) b,a,d, c (4) a,b,d, c

In which session of Congress was the

demand of 'Purna Swaraj' formally

accepted ?

(1) Calcutta, 1929(2) Lahore, 1929

(3) Lahore, 1930 (4) Karachi, 1930

Which of the following is not a

central problem of an economy ?

(1) What to produce ?

(2) How to produce ?

(3) For whom to produce ?

(4) Where to produce ?

The monetary policy in India is

formulated by :

(1) Central Government

(2) Industrial Financial Corporation
of India

(3) Reserve Bank of India

(4) Industrial Development Bank of
India

Theory of "Separation of power" was

propounded by :

(1) Aristotle (2) Montesquieu

(3) Carl Fedrich (4) J. S. Mill



112.

113.

114.

115.

116.

fr=iifed & @ ®9-9 99 A
TRt & e & 7

() qFRE F e

(i) dGfaum @ gareaa

(iii) e diqem=

RS RERSIREINER

get fameq ® -

(1) iTdii (2) i, ii T iii

(3) LiiTiv  (4) i, ii, il T iv
&= I 6 oA R

(1) TETpd qivhas % &N
(2) wdg Red 9@ 3™

3) T @ a

(4) 9RT HHR &

TEEHI H oAy & aRM, & B K
Bl =R

(Daﬁrgﬁ‘ (2) wedl &
(3) R (4) IAX-=eM I
e H o1 B

(1) A9t foorie &R erprefeT ds

(2) AIFT 9% PR kR U &
T

(3) AT b BR AWNIead U8 w©R
ECRIG

4) I FA WX TR G e
e

Fretfoiea

T@ HRO HA-A 6 !

(1) a%gall Td farelt & A9 H Th
HqE B

(3) HIRAT % MG & PRI FqEH
ST U ! b
4) oo # AT & el &l
I AT
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112.

113.

114.

115.

116.

[A]

Which of the following are the
characteristics of federal Government ?
(1) Division of Powers

(i1) Supermacy of the Constitution
(i11) Flexible Constitution

(iv) Independent Judiciary

Correct option is :

(1) 1andii (2) 1, 1i and iii

3) i,iiandiv  (4) 1i,1i, iii and iv
Regional Rural Banks are sponsored
by :

(1) Nationalised Commercial Bank
(2) Reserve Bank of India

(3) State Government

(4) Government of India

During period of inflation, tax rates
should :

(1) Increase (2) Decrease
(3) Remain Constant (4) Fluctuate

NABARD stands for :

(1) National Business
Accounting and Reviewing

(2) National Bank for Agriculture
and Rural Development

(3) National Bank for Aeronautics
and Radar Development

(4) National Bureau for Air and
Road Transport

Which of the following is the basic

cause of cyclical unemployment ?

(1) A general deficiency in the
demand for goods and services

(2) The reluctance of workers to
move to other parts of the
country where work is available

(3) The 1nability to  change
occupations because of lack of
skills

(4) Workers' ignorance
opportunities of employment

for

of

P.T.O.
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117.

118.

119.

120.

121.

122.

A-A/fE oI H “gadtT

STH” H TG & ?
(1) oTgieq &=

(2) Gfed &=

(3) T &=

(4) T 9 B3 T

faeq R Hmed (W.T.0.) I &9
Y SeEr 3 § ¢

(1) o geEar &t

(2) faw i<

(3) THIH AR B

(4) IETET AUR &l

g Bl g9 99 SEd AhvE &
RRIEETD IR

(1) 7eER Joe fZas

(2) R BRwEs

(3) el FRSIX o

(4) T REvEE

IR § 77 SO G SR 69
o g ?

(1) 1976 (2) 2020

(3) 1996 (4) 2006

fr & § 9T af 3 ‘onia e’
H AFT F&T e ?

(1) & & 3d

(2) | % forg AR

(3) ReEml & g WF=IRT &l WY
(4) SRl T TSGR

I I AR

wﬁﬁﬁwwﬂgﬁqﬁ?ﬁ
fesm & ¥ gl aT FBAR ©

(1) ITG-gal maies qa
(2) vg YA (S Aer)
(3) aferoil-gdl saie ges
(4) ggar g (SRl M)
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117.

118.

119.

120.

121.

122.

Which section has the provision of
"Paid Leave" ?

(1) Unorganised Sector

(2) Organised Sector

(3) Primary Sector

(4) None of these

W.T.O. basically promotes :

(1) Financial Support
(2) Global Peace

(3) Unilateral Trade
(4) Multilateral Trade

The editor of the first Hindi
newspaper Udant Martand was :

(1) Mahavir Prasad Dwivedi

(2) Bharatendu Harishchandra

(3) Jugal Kishore Shukla

(4) Raja Shivaprasad

When was the New Consumer
Protection Act implemented in India ?
(1) 1976 (2) 2020
(3) 1996 (4) 2006

Which of the following was not a
part of Lenin's 'April Thesis' ?

(1) The War be brought to an end
(2) Right to vote for all

(3) Land be transferred to peasants
(4) The Banks be nationalized

The winds blow from sub tropical
high pressure towards the sub polar
low pressure in South-West to North-
East direction are called as :
(1) North-East Trade Winds
(2) Westerlies (Northern Hemisphere)
(3) South-East Trade Winds
(4) Westerlies (Southern Hemisphere)



123.

124.

125.

126.

127.

-1 q G-I A PRI A qn
fd ™ FT F IWT FRd T«
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[A]

Match List-I with List-II and select
the correct answer using code given
below :

Grasslands
(a) Pustaz

Region / Country
(1) Amazon Basin

(b) Compos (i1) Hungary
(c¢) Llanos (ii1) Brazilian Plateau
(d) Selvas (iv) Orinoco Basin
Codes :
(@ () () (@)

(1) i ii i v

(2) ii i iv il

3) ii i i v

4) i m - iv i

In which year was Nazi Dictatorship
established in Germany ?

(1) 1930 (2) 1931

(3) 1932 (4) 1933

Two-party system is found in :

(1) France (2) India

(3) China (4) U.S.A. (United
States of
America)

Which of the following

"Fundamental Rights" is not included

under the Indian Constitution ?

(1) Right to Freedom

(2) Right to work

(3) Equality of opportunity
matters of employment

(4) Right to protect one's culture

'Diffused Day Light' is :

(1) The solar radiation that goes into
Zero

(2) The sun light, earth receives
during dawn and twilight

(3) The terrestrial radiation

(4) The solar radiation received by
ozone layer

in
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134.

Which one of the following is not a
Metamorphic Rock ?

(1) Marble (2) Quartzite

(3) Graphite (4) Gabbro

The Greenwich Mean Time is the

local time at :

(1) 180° East Meridian

(2) 180° West Meridian

(3) 180° East and 180° West both
Meridians

(4) Prime Meridian

Liberals of nineteenth century Europe

predominantly belong to which class ?

(1) Ruling (2) Clergy

(3) Nobility (4) Bourgeois

Which one of the following is not a
Earthquake measuring scale ?

(1) Richter (2) Mercalli

(3) Rossi-Forel (4) Moh

In which year did USA join the Second
World War ?
(1) 1939
(3) 1941

(2) 1940
(4) 1942

Who has written the book "Freedom
From Fear" ?

(1) Lord Bryce

(2) Nelson Mandela

(3) Aung San Su Kyi

4 J.S.Mill

'Sargasso Sea' is located at :
(1) North Pacific Ocean
(2) South Atlantic Ocean
(3) North Atlantic Ocean
(4) South Pacific Ocean
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[A]

Match the List-I with List-II and
choose the correct option :

List-I List-1I

(Invention) (Inventor)
(i) Powerloom (a) Samuel F.B. Morse
(ii)) Telegraph (b) Jethro Tull
(iii) Water Frame  (c) Edmund Cartwright
(iv) Seed drill (d) Richard Arkwright

(1) i-c, ii-a, iii-d, iv-b

(2) i-d, ii-a, iii-b, iv-c

(3) i-a, ii-c, iii-d, iv-b

(4) i-b, ii-a, iii-d, iv-c

When was Bombay declared the
capital of Bombay Presidency ?

(1) 1801 (2) 1810

(3) 1819 (4) 1829

Which one of the following cities in
India is located closest to tropic of
cancer ?

(1) Jodhpur
(3) Raipur

(2) Ranchi
(4) Kolkata

Who painted 'Germania — Guarding
the Rhine' ?

(1) Raphael

(2) Michelangelo

(3) Lorenz Clasen

(4) Leonardo da Vinci

Which one of the following is not
correctly matched ?

Parts of the Provision
Indian Constitution
() I - Citizenship
2) XIX - Amendment of

the Constitution
3V - The Union
4 XV - Elections
P.T.O.
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141.

142.

Which of the following pairs of list

and contents is/are  correctly

matched ?

(a) Rajni Kothari : Caste in Indian
Politics

(b) Jai Prakash Narayan : Caste in India : Their
mechanism Genesis
and development

(c) M. N. Shriniwas : Caste in modern India

and other Essays

Select the correct answer using the

code given below :

(1) aonly (2) a,bandc

(3) aand conly (4) bonly

The doctrine of the divine and
absolute right of the monarch was
refuted by :

(1) Rousseau (2) Montesquieu
(3) John Locke (4) Voltaire

Match List-I with List-II and select
the correct answer using the codes
given below the lists :

List-I List-11
(i) Rastriya Lok Dal (a) United
Progressive
Alliance
(ii)) Bhartiya Janata (b) Left Front
Party
(iii) Congress Party (c) National
Democratic
Alliance
(iv) Communist Party (d) State Party
of India (Marxist)
Codes :

(1) i-c, ii-a, iii-d, iv-b
(2) i-d, ii-b, iii-a, iv-c
(3) i-b, ii-c, iii-a, iv-d
(4) i-d, ii-c, iii-a, iv-b
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[A]

Disposable personal income is equal to :
(1) Personal income (-—) personal
direct taxes
(2) Net National product (-)
personal income
(3) Net National product (-) personal
income (+) transfer payments
(4) Net National product (-)
personal income (—) depreciation

Electorate means :

(1) The body of voters

(2) The elected representatives of
people

(3) The nominated members
parliament

(4) The candidates who actually
contest the elections

of

Forces considered as obstruction in
nationalism in Europe during 19"
Century were :

(a) Habsburg Monarchy

(b) The Intelligentia

(c) Ottoman Monarchy

(d) Labour Class

Choose the correct code :

(1) aand ¢ (2) aand b

(3) bandc (4) a,bandc

Two party system is better because :

(1) It gives despotic powers to the
cabinet.

(2) It gives an opportunity to the
opposition party to indulge in an
irresponsible eroticism of
government.

(3) It makes smooth changes in
government possible.

(4) It leads to the formation of
coalition government.

P.T.O.
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147.

148.

149.

150.

Gender divisions, we usually refer to :

(1) Unequal roles assigned by the
society to man and women

(2) Unequal child sex ratio

(3) Biological difference between
men and women

(4) Absence of voting rights for

women in democracies

Choose the correct chronological
order of the following events :

(a) Champaran Satyagraha

(b) Lucknow Pact

(c) Kheda Satyagraha

(d) Jallianwala Bagh Tragedy
Choose the correct code :

(1) c,a,d, b (2) b,a,c,d

(3) b,c,a,d (4) c,d,a,b

Who among the following early
Sociologists established New Harmony'
a cooperative community in USA ?
(I) Adam Smith (2) Robert Owen
(3) Louis Blank (4) John Stuart Mill

Which one of the following is not
correctly matched ?

Volcanic

mountains Country/Place
(1) Mt. Agung Japan
(2) Mt. Meyon Philippines
(3) Mt. Merapi Indonesia
(4) Mt. Cotopaxi Ecuador
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